Multiplying a Monomial by a Trinomial (J)

Simplify each expression.

1. —50°(9® — 6v% — 8v)

2. 7q* (=8¢ + 8¢* + 6¢)

9b(—9b* — 30> — 7b%)

W

1. d*(7d* + 5d° + 6d°)

6r°(—9r° + 1% + 1)

Ot

6. 9h(3h° + 4h* — Th?)

EN |

CEY2KD 4 B — 4k

8. 8s7(s! +9s® — 35%)

9. —6w*(—7w* + 9w’ — w?)

10. 26%(—20° + 4b* 4 b?)
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Multiplying a Monomial by a Trinomial (J) Answers

o

Ut

6.

=~

8.

9.

10

Simplify each expression.

- —50°(9v® — 6v* — 8v)

— —450% + 3007 + 400°

7q*(—8¢" + 8¢” + 6¢)
— —56q¢" + 56¢° + 42¢°

9b(—9b* — 30> — 7b%)
— —810° — 270" — 63b°

d*(7d* + 5d° + 6d°)
= 7d° + 5d° + 6d*

6r°(—9r° + 1% + 1) |
= —547° + 61" + 6r°

9h(3h° + 4h* — Th?)
= 27h°® + 36h° — 63h!

k(2K 4 Kt — 4K%)

— 2k + k8 — 4k7

8s”(s* + 9s® — 3s5?)
— 85" 4 725% — 2457

—6w®(—Tw* + 9w® — w?)
= 420" — 54w’ + 6w’

201 (—2b° + 4b* + %)

= —4b° + 8% + 2b°
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